MCHY?2 %% V

180° FHRAZY RN - ERT( mindman
] -
Ba ﬂ‘"“
BTk o SREGHAMRET » fAZE -

L]
< B o IR o JOTUREE 2 180° » Wk Z W _EFHIERE - MG
- AR ([ 1) -

o MNERSEMEAE - FIRHREYIEA -

L »
.E.,/
> Y /
7-. 0

\

[] "\‘ \\

|
’
£
(]

o SRR » 24 Hi0 -
e o RYIIMIRY - W& EBMLIEHIGE -
-
TEREHIE
(ZHERE ) Hirg
- R MCHY2
Dy /-/2’//>/ fEBT A
N~ = SRELPYE (mm) 10 | 16 | 20 | 25
\ '“»I R %G,
’ ‘\’ e s PO el 0.2~06 MPa
¢\ ’ JE B —10~+60°C ( R )
HERE +0.2 mm
STHEACHR BRI FSEE (c.p.m) 60 (“1)
#&iH (*2) PG
MCHY2 —16 D 1 HHEEH I Nm (BE705MPa) | 016 | 054 | 14 | 228
| ,—‘ T A 180°~182°
BrIR AR (Wt )
- | P _3°
BEE  GAIRRE D EEE  SUTUEE | pre DG, KEE
10 TR,
16 (e ) ik (g) 80 | 150 | 320 | 00
" 5 1. TR PEHI -

2. JRERIEEIE O E W -

feR Iy L R 1 o 2

SRR P

1. BRI R E R R

MCHA2 MCHY2

; RDCV, RQCV
i ‘ 2> e
WA o & RDC, RQC
15~29.5mm

* B » SRR DTS 2 (R -
* s @) -

M mindman


https://www.mindman.com.tw/proimages/pdf/C_RDC.pdf
https://www.mindman.com.tw/proimages/pdf/C_SpeedController.pdf
https://www.mindman.com.tw/proimages/pdf/C_MCHx_model_selection.pdf
https://www.mindman.com.tw/proimages/pdf/c_technical_data.pdf
https://www.mindman.com.tw/proimages/pdf/C_Precautions.pdf

MCHY?2 el 010~025

180° FARAZRISM - (hEwTL

HRRFFIIHERR
BRI Z RB
ATFUBIZ EXCSFTAT T (8 ) B » TERESET

PR 2 S LR R BRI SR THE ST < DAF 2R -

1N=0.102 kgf
1MPa=10.2 kgf/cm®

ARIFRLAERS
o AT SEFENTHE RS — TR S A
H e R R P 2 -

o 5 LRI S TURSAEIRBIREEI S MK - ERE s Bz
JNE i -

ESE

225,
220

216 | \\_
210 NN
N

w
o

N
[$))

N
o

W

———

SME SRR H (mm)
o »n S o

0 02 03 04 05 06

JE&JJ (MPa)

ﬁ%bmmdman

mindman
LSS I=YEyapiEl
MCHY2-10 MCHY2-10
P= ] _
10 1 E 12
\P=0.6MPa >
81-0.5 < 10
= N 3
| RIS S 08
j{i 0.3 \\\\ X 06 /
o “[o2 N % 0.4 //
2 S 3 02 /'
B
% 20 30 40 50 60 = % 01 02 03 04 05
REFEE L (mm) YEBHRFR (s/90°)
MCHY2-16 MCHY2-16
P= /] _
35 < 30
30 N PIO.GMIP.- §> 25
S 25120 NN T o /
R s 03NN x 15 /'
?2 10 _02\\\\\\>_ *LUKI 1.0
< \\\\_ .R 05 /
5 ﬁ - /
0 Lo
0 20 30 40 50 60 70 0 01 02 03 04 05
REFEE L (mm) VEERER (s/90°)
MCHY2-20 MCHY2-20
P= ] .
50 < 6
P-Io GMIP = /
_ 405 \\_ = 25 /
é 300.4 \\\\ e 4 /
B Loa NN z 3
# 20— ] lu
g | 02— 5 2
10 = —— AR —
0 O]
0 30 40 50 60 70 80 0 02 04 06 08
REFEE L (mm) YEEIRFE (s/90°)
MCHY2-25 MCHY2-25
P= &Sy .
100 T 1 £ 2
N P=0.6MPa >
. 80F0.5 X /
z NS 5 "° /
~ 600.4 NN -~ /
R gal NN x 10
# 40 02\\\\1\\ i /
) e R S == B s 7
0 oo
0 30 40 50 60 70 80 90 0 02 04 06 08 10
RFFEE L (mm) {EBNRFRT (s/90°)




MCHY?2 wishstk L EE 0 V

180° RARABY ST - MEET( mindman

210 216~225

ol

19 -

7

FEZME

No. % 10 | 16 | 20 | 25 | & (1%%@) No. %%g 10 | 16 | 20 | 25 | B& (f%g@g
(EN sREE 1 17 | IR N 2

2 | iEHER N 1 18 |B#& e 1

3 |HiE B 1 19 | O BuER NBR 1 )
4 | EW N 1 20 | B8 ] NG 1

5 | hifd N 1 21 | O AR - NBR 1 °
6 | EN 2 22 |NAAREEE | - ENG 1

7 | BT g 2 23 | IS SRR N 4

8 | shigt il 2

o |ima L 1

10 | R BRI N 1 e

1 | b — | aem | 2 fEHE / FTHEACHR

12 | wiggd@ss  [NBR| PU 1 ° P fEE

13 | fgikER Bt 1 210 PS-MCHY-10

14 | TEFEE R NBR 1 o 216 PS-MCHY-16

15 | fii g fetiE 1 220 PS-MCHY-20

16 | IHZEMREER NBR 1 ) 225 PS-MCHY-25

* Bl MCHY RYISLHIMEHA -

M mindman



MCHY2 SHBIR ST o10~025

) .
180° BHRAZY RN - (HERHTU mindman
2-UUxUA %
Al
fEEFLEFA
o
) - NP
o
© wl 3
a |
X [© }
P EExEA %
o LQ, 4QQitm P2
N (B E R )
? am 4-XXxXA G >
« N s (ST ) & 2-MMxMA 7
& i oYY (I I )
< \ P (FERL) "
I
% | — & G—F ID S
= LA T
= =l= /"\"
1 =5 T - <
= L \
= i T — M
| =% o ——-O 100 ]
|
‘ @]
K L © PZZxZA
i I o ©
c G
== . W
Gl 7 i E B =0 B
BB
Q 4QQH§J@
N "*‘ (BRI AL ) TT HERFL (B )
1]
n: ~
N {}/7
ned T -
c [ {}\:
_TTAERAL
% L N1 N2 (BT )
By
=
i+ =
=
)
©
* S GERC P BUARHE T35 - BofFastatah
e T R 4 -
%Q%ABBBCD EE |EAEBIED|F |G|(H| I |J |K|L|{ M [MA|] MM [N1(N2( O ([P| Q |QH| QQ
10 30 | 58| 71 (47.5(35|3H90™ |3 |4 | 9|2 | 9|24|24 | 3 |13[18] 22 | 6 |M3x0.5 23| 7 |23.5| 4| 6 5| 3.4 | M3x0.5
16 | 38 | 69| 84 |55.5(41|3H9 "% | 3 | 4 |15(2.5(12| 30( 30 | 8 |18 (20| 28 | 8 [M4x0.7 25| 7 |28.5| 5| 8 5ooe| 3.4 | M3x0.5
20 | 48 | 86| 106 [69 |50 [4H9*3%°| 4 | 5 [19|3 |16] 36| 38 |12 [20|25| 36 [ 10 |M5x0.8 | 32| 8 37 | 8|10 Jue| 4.5 | M4x0.7
25 | 58 [107 | 131 (86 |60 [4H9 3% | 4 | 5 [23|3 |18| 42| 46 (14 (24 |30| 45 | 12 | M6x1 42| 8 |45 |10| 12 ooz | 5.5 | M5x0.8
EEUR| 7T [uA| wu |w|x|xal xx |v|YY|za| zz |z1]|z2
10 |12 | M5x0.8 | 4 |M3x0.5 | 15| 30| 6[M3x0.5 | 9|34[15[11H9 ™| 6] 3
16 |14 | M5x0.8 | 5 |M4x0.7 |20(33| 8|M4x0.7 [12|4.5|15|17H9 0°° | 7| 4
20 (18 | M5x0.8 | 8| M5x0.8 |26|42| 10| M5x0.8 14 |55(1.5|21H9 7** | 9| 5
25 |[22.5| M5x0.8 | 10 | M6x1 [30| 50| 12| M6x1 |16 |6.6(1.5]|26H9 ~°° | 12| 6

M mindman




	1_規格
	2_性能圖表 ø10~ø25
	3_內部構造及主要零件
	4_外觀尺寸

